#=X1

& & 5 %
GARLEE)
B4 . EIRAWL EERFRESL: BF
MEATERT . AR (BT FH)
X E & ==~ B i =
KRR ZazNLESEESS 787
TRt AT K E 2 131
KEFILERS 887
KEM L ER Ly 3h 556 22 B A (2% 95,493
wE % B 97,298
& A © 38,091 FH
97,298
EREREL B-C= = 2.55

38,091




#=X1

& & 5 %
(GAlL=E%)
=% 4% . FEAWL HEFES: 5%
HETEAT . —AHGR (B Fm)
X E % b X 9 B it fi& =
KRR ZazNLESEESS 2,505
FrRigEr K E L 721
KEFILERS 2,963
REM L it S BB AL B 28 191,448
wE % B 197,637
& A © 33,007 FH
197,637
EREREL B=+C= = 5.99

33,007




#=X1

E &% £ 5 %
GAlL=EZE)

EEL  RERHERE HEFES: 5%
TR . ZIRIEEHMR (B FH)

X R & b X 9 B it fi& =
kR E s KE S ER 21,488
wE %X B 21,488
wEARA © 4,038 FH

21,488
ERERL B+C= = 5.32

4,038




#=X1

E &% £ 5 %
GAlL=EZE)

EEL  RERHEHE HEFES: 5%
TR R (EfFH)

X R & b X 9 B it fi& =
kR E s KE S ER 17,782
wE & B) 17,782
wEARA © 4,327 FH

17,782
ERFESL B+C= = 411

4,327




#=X1

E &% £ 5 %
GARLEE)

EEL  RERAER HEFES: 5%
AT KRR (B Fm)

X R & b X 9 B it fi& =
kR E s KE S ER 70,618
wE %X B 70,618
wEARA © 11,346 FH

70,618
ERERL B+C= = 6.22

11,346




#=X1

E &% £ 5 %
GARLEE)

EEL  RERHER HMEFESL: BF
MEATEAT &b (B FH)

X R & b X 9 B it fi& =
kR E s KE S ER 62,264
wE %X B 62,264
wEARA © 21,153 FH

62,264
ERERL B+C= = 2.94

21,153




#=X1

& & 5 %
GARLEE)

EEL  RTHERE fERFESL: BF
MEATERT . Eih K (BT FH)

X E & ==~ B i =
ZKEE_%EE KB RLER 113,790
wE %X B 113,790
wEARA © 36,537 FH

113,790
ERFESL B+C= = 3.11

36,537




#=X1

E &% £ 5 %
GARLEE)

EEL  RERHER HMEFESL: BF
HEATEAT : IR)Ih X (B FH)

X R & b X 9 B it fi& =
kR E s KE S ER 76,843
wE %X B 76,843
wEARA © 24,999 FH

76,843
ERERL B+C= = 3.07

24,999




#=X1

E &% £ 5 %
GARLEE)

EEL  FERHEE HMEFESL: BF
HEATEAT : SNELILM (BGI:-FH)

X R & b X 9 B it fi& =
kR E s KE S ER 82,766
wE %X B 82,766
wEARA © 20,961 FH

82,766
ERERL B+C= = 3.95

20,961




#=X1

E &% £ 5 %
GARLEE)

EEL  RERHEHE HMEFESL: BF
HEAT R : B R (B Fm)

X R & b X 9 B it fi& =
kR E s KE S ER 66,067
wE %X B 66,067
wEARA © 16,730 FH

66,067
ERERL B+C= = 3.95

16,730




#=X1

E &% £ 5 %
GARLEE)

EEL  FERHERE HMEFESL: BF
MEATERT . db/ XK (B F)

X R & b X 9 B it fi& =
kR E s KE S ER 41,870
wE %X B 41,870
wEARA © 10,577 FH

41,870
ERERL B+C= = 3.96

10,577




#=X1

E &% £ 5 %
GARLEE)

EEL  RERHERE HMEFESL: BF
AT : R (B Fm)

X R & b X 9 B it fi& =
kR E s KE S ER 76,431
wE %X B 76,431
wEARA © 21,730 FH

76,431
ERERL B+C= = 3.52

21,730




#=X1

E &% £ 5 %
GARLEE)

EEL  RERHER HMEFESL: BF
WATER . FAREMX (B F)

X R & b X 9 B it fi& =
kR E s KE S ER 21,710
wE K B 21,710
wEARA © 6,154 FH

21,710
ERERL B+C= = 3.53

6,154




#=X1

E &% £ 5 %
GAlL=EZE)

EEL  RERAEHE HMEFESL: BF
MEITEA . FREHX (B F)

X R & b X 9 B it fi& =
kR E s KE S ER 21,594
wE %X B 21,594
wEARA © 5673 FH

21,594
ERERL B+C= = 3.81

5,673




#=X1

& & 5 %
GARLEE)
EEL  RERAER HMEFESL: BF
HTER . RRIMR (B Fm)
X R & b X 9 B it fi& =
kR E s KE S ER 10,061
wE %X B 10,061
wEARA © 2,404 FH
10,061
ERFESL BrC=——— = 419
2,404




#=X1

E &% £ 5 %
GARLEE)

EEL  RERAEE HMEFESL: BF
HEATEAT - KAE) IR X (BGI:-FH)

X R & b X 9 B it fi& =
kR E s KE S ER 69,192
wE %X B 69,192
wEARA © 15,865 FH

69,192
ERERL B+C= = 436

15,865




#=X1

& & 5 %
GARLEE)

EEL  RETHERE fERFESL: BF
MEATERT /BRI Ris ith X (BT FH)

X E & == B i =
ZKEE_%EE KB RLER 94,043
wE %X B 94,043
wEARA © 21,538 FH

94,043
ERERL B+C= = 437

21,538




#=X1

& & 5 %
GBLEE)

EEL  RTHERE fERFESL: BF
HEATEAT - A5 E IR X (B FH)

X E & ==~ B i =
ZKEE_%EE KB RLER 140,120
wEE B 140,120
wEARA © 27,018 FH

140,120
ERFESL BrC=——— = 5.19

27,018




#=X1

& & 5 %
GARLEE)

BEL  RTHER fERFESL: BF
MEATERT - BF )R X (B FH)

X E & == Bt ] i =
ZKEE_%EE KB RLER 110,885
wE %X B 110,885
wEARA © 22,307 FH

110,885
ERERL B+C= = 497

22,307




#=X1

& & 5 %
GARLEE)
EEL  FERHEE HMEFESL: BF
HEATEAT - /MR R X (BGI:-FH)
X R & b X 9 B it fi& =
kR E s KE S ER 84,181
wE K B 84,181
wEARA © 16,730 FH
84,181
ERERL BrC=——— = 5.03
16,730




#=X1

E &% £ 5 %
GAlL=EZE)

EEL  RERHEE HMEFESL: BF
MEATEAT - KB R X (BGI:-FH)

X R & b X 9 B it fi& =
kR E s KE S ER 38,796
wE %X B 38,796
wEARA © 7,884 FH

38,796
ERERL B+C= = 492

7,884




#=X1

E &% £ 5 %
GAlL=EZE)

EEL  FERAEE HMEFESL: BF
MEATER MR RE X (BGI:-FH)

X R & b X 9 B it fi& =
kR E s KE S ER 20,501
wE %X B 20,501
wEARA © 7,307 FH

20,501
ERERL B+C= = 2.81

7,307




#=X1

& & 5 %
GARLEE)
B4 . EIRAWL fERFESL: BF
HE{TERT - SAShM (T (B FH)
X E & ==~ B i =
KRR Gz NS 3:474
TRt AT K E 2 1,113
KEFILERS 3,962
KEP LB Lk ¢ E R L fE 2 127,619
wE % B 136,168
& A © 105,150 FH
136,168
EREREL B-C= = 1.29

105,150




#=X1

E &% £ 5 %
GARLEE)

EEL  RERHER HMEFESL: BF
TR BEILHEK (B Fm)

X R & b X 9 B it fi& =
kR E s KE S ER 80,676
wE %X B 80,676
wEARA © 17,499 FH

80,676
ERERL B+C= = 461

17,499




#=X1

& & 5 %
GARLEE)
EZ % . BIRAWL MEMFEEL: &F
AT Bl (B4 FMA)
X R & b X 9 B it fi& =
KRR Gz NS 1431
TRt AT K E 2 423
KEFILERS 1,127
KEM L ER Ly 3h 556 22 B A (2% 91,278
wE & B) 94,259
& A © 37,722 FH
94,259
EREREL B-C= = 2.50

37,722




#=X1

E &% £ 5 %
GARLEE)

EEL  FERHER HMEFESL: BF
MEfTER . = XEHR (B Fm)

X R & b X 9 B it fi& =
kR E s KE S ER 86,417
wE %X B 86,417
wEARA © 24,999 FH

86,417
ERERL B+C= = 3.46

24,999




#=X1

& & 5 %
GARLEE)
EEL  RERAEE HMEFESL: BF
MEATERT . REE#R (B FH)
X R & b X 9 B it fi& =
kR E s KE S ER 71,071
wE K B 71,071
wEARA © 14,134 FH
71,071
ERERL BrC=——— = 5.03
14,134




#=X1

& & 5 %
GARLEE)

BEL . RETHERE fERFESL: BF
AT PR R (BT FH)

X E & == B i =
ZKEE_%EE KB RLER 54,849
wE %X B 54,849
wEARA © 10,865 FH

54,849
ERERL B+C= = 5.05

10,865




#=X1

E &% £ 5 %
GAlL=EZE)

EEL  FERHREHE HMEFESL: BF
TR AR (B Fm)

X R & b X 9 B it fi& =
kR E s KE S ER 26,700
wE %X B 26,700
wEARA © 5,096 FH

26,700
ERERL B+C= = 5.24

5,096




#=X1

E &% £ 5 %
GAlL=EZE)

EEL  FERHER HMEFESL: BF
HEATEIAT : M LR (B F)

X R & b X 9 B it fi& =
kR E s KE S ER 32,040
wE %X B 32,040
wEARA © 6,442 FH

32,040
ERERL B+C= = 497

6,442




#=X1

E &% £ 5 %
GAlL=EZE)

EEL  RERHERE HMEFESL: BF
TR E LR (B Fm)

X R & b X 9 B it fi& =
kR E s KE S ER 19,855
wE %X B 19,855
wEARA © 5,096 FH

19,855
ERERL B+C= = 3.90

5,096




#=X1

E &% £ 5 %
GARLEE)

EEL  RERHERE HERFES: S
TR . KSR (B Fm)

X R & b X 9 B it fi& =
kR E s KE S ER 59,545
wE %X B 59,545
wEARA © 15,288 FH

59,545
ERERL B+C= = 3.89

15,288




#=X1

E &% £ 5 %
GAlL=EZE)

EEL  RERHER HERFES: S
TR 2 EHX (B FF)

X R & b X 9 B it fi& =
kR E s KE S ER 25,555
wE %X B 25555
wEARA © 5,961 FH

25555
ERERL B+C= = 429

5,961




#=X1

E &% £ 5 %
GAlL=EZE)

EEL  RERHEE HERFES: S
TR : BAHhR (B FF)

X R & b X 9 B it fi& =
kR E s KE S ER 35,988
wE %X B 35,988
wEARA © 6,346 FH

35,988
ERERL B+C= = 5.67

6,346




#=X1

& & 5 %
GARLEE)

EEL  RERHERE HERFES: S
TR SR (B Fm)

X R & b X 9 B it fi& =
kR E s KE S ER 24,152
wE %X B 24,152
wEARA © 5,865 FH

24,152
ERFESL B+-C= = 412

5,865




#=X1

E &% £ 5 %
GAlL=EZE)
EEL  RERAER HERFES: S
TR AR (B Fm)
X R & b X 9 B it fi& =
kR E s KE S ER 39,771
wE %X B 39,771
wEARA © 9,134 FH
39,771
ERERL BrC=——— = 435
9,134




#=X1

fg i % & %
GBLEE)
Ex42 :EIEAL #REFTIRS : BE
HEATER : RS (B4 FH)
X E & ==~ B i =
KRR EE T ek R 698
KEFEES 1,871
KEMLLER L ¢ E [ L {E 4% 469,320
wEE (B 473,412
wEARA © 92,879 FH
473,412
ERFESL B+-C= = 5.10

92,879




#=X1

& & 5 %
) GARLEE)
B % &  HEAL WEFRE: W
AT . =R (B FF)
X R & b X 9 B it fi& =
KRR NGRS 2,633
FrRigEr K E L 751
KEFILERS 1,684
KEM L ER Ly 3h 556 22 B A (2% 370,724
wE % B 375,792
& A © 61,511 FH
375,792
EREREL BrC=—— = 6.11
61,511




#=X1

& & 5 %
GBLEE)

EEL  REHERE #REFTIRS : BE
MEATERT . A HhX (BT FH)

X E & ==~ B i =
ZKEE_%EE KB RLER 354,463
wEE B 354,463
wEARA © 16,346 FH

354,463
ERFESL BrC=——— = 21.68

16,346




#=X1

& & 5 %
GARLEE)
EZ % . BIRAWL FERMRSL: A
HETER  BOFR (B Fm)
X R & b X 9 B it fi& =
KRR ZazNLESEESS 2.266
TRt AT K E 2 766
KEFILERS 1,922
KEM L ER Ly 3h 556 22 B A (2% 52,550
wE % B 57,504
& A © 37,722 FH
57,504
EREREL B-C= = 1.52

37,722




#=X1

& & 5 %
GRWLEZE)

Ex2  BHRHER fEFRA: #E
MEATER : KX (BH:FH)

X E % B R % Eafiik:E] i =
Eﬁﬁé@ﬁ ﬁ@gﬁﬁﬁ 326,728
wE K B 326,728
wEARA © 62,781 FH

326,728
ERERL BrC=——— = 5.20

62,781




#=X1

& & 5 %
GARLEE)

EEL  FERHEHE #REFTIRS : BE
HETER . KBIK (B Fm)

X R & b X 9 B it fi& =
kR E s KE S ER 3,617
wE %X B 3617
wEARA © 1,923 FH

3617
ERFESL B+-C= = 1.88

1,923




#=X1

& & 5 %
GRWLEZE)

Ex2  BHRMHER fERFRA: WL
MEATERT . R EEER (BH:FH)

X E & B R % Eafiik:E] i =
Eﬁﬁé@ﬁ @%gﬁﬁﬁ 715,375
wE K B 715,375
wEARA © 103,517 FH

715,375
ERERL B+C= = 6.91

103,517




#=X1

& & 5 %
GBLEE)

EEL . RETHERE fERFRA: WL
MEATEIR : SEAEE X (BT FH)

X E & ==~ B i =
ZKEE_%EE KB RLER 118,018
wE K B 118,018
wEARA © 80,381 FH

118,018
ERFESL B+-C= = 1.47

80,381




#=X1

E &% £ 5 %
GAlL=EZE)

EEL  RERHERE ERERFES : L
IETE . RAFEHK (B FF)

X R & b X 9 B it fi& =
kR E s KE S ER 29,782
wE %X B 29,782
wEARA © 4,327 FH

29,782
ERERL B+C= = 6.88

4,327




#=X1

& & 5 %
GARLEE)

EEL  RERHERE ERERTRES: LR
TR NRRIBR (B FH)

X R & b X 9 B it fi& =
kR E s KE S ER 9,141
wE K B 9,141
wEARA © 1,346 FH

9,141
ERERL B+C= = 6.79

1,346




#=X1

& & 5 %
GARLEE)
%4 BIHAL HERFRES: Wk
TR . AFHRIBK (B FF)
X E & ==~ B i =
KRR ZazNLESEESS 15,561
FrRigEr K E L 9,081
KEFILERS 29,028
KEM L ER Ly 3h 556 22 B A (2% 3,136,181
wE % B 3,189,851
& A © 334,585 FH
3,189,851
EREREL BrC=—— = 9.53

334,585




#=X1

& & 5 %
GARLEE)

EEL  RERHER ERERTRES: LR
HEATEAT - I (B FH)

X R & b X 9 B it fi& =
kR E s KE S ER 14,101
wE K B 14,101
wEARA © 2,115 FH

14,101
ERERL B+C= = 6.67

2,115




